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1) Which of the following banks launched a
financing scheme for women fashion boutique
owners known as Boutique Financing on April
15, 20147

1) Allahabad Bank  2) Bank of India
3) ICICI Bank 4) Bharatiya Mahila Bank
5) State Bank of India

2) Which of the following films won the best
popular film providing wholesome
entertainment at the 617 National Film Awards
announced on April 16, 2014 ?
1) Chennai Express 2) Bhaag Milkha Bhaag
~3) Yeh Jawaani Hai Deewani  4) Aashigqui-2
3) Raanjhanaa
3) Gabriel Garcia Marquez,the Nobel-winning
Colombian author, passed away on
April17,2014. Which one of the following books
was not written by him?
1) One hundred years of solitude
2) The Autumn of the patriarch
3) Love in the Time of Cholera
4) Of love and other Demons 5) My name is Red
4) Who took over as the 22" Chief of Indian Navq<
on April 17, 20147
1)Satish soni  2) Sunil Lamba 3) Shekhar @1
4) Robin K.Dhowan 5) None of these
5) Abdelaziz Bouteflika won a fourth
President of which of the following Afr
countries in April 2014 7
1) Nigeria  2) Sudan
4) Ethiopia 5) Algeria
6) In January 2014, which one p
banks became the first Indig
to open a branch in China’
1) ICICI Bank 2) HD
4) Yes Bank  5) KOtal
7) Which public sectorbg

B, 2014 2) December 31, 2014
4} October 31, 2014

5) January 1, 2015

o

9) Jhlius Baer Group is a private banking group
based in which of the following European
countries?

1) France  2) Switzerland 3) Norway
4) Denmark 5) Germany

10) The offspring of an elephant

whale is called ?

is situated in P
1) Kerala

: Ilmwmg counfries 15 not a
BIMSTEC ?

2 2) India 3) Myanmar

ha lla.nd 5} China

in. Born to Bat : The Journey of Cricket's
tifnate Centurion is Written by 7

1¥Khalid A-H Ansari 2) Ayaz Memon

) Harsha Bhogle 4) Boria Majumdar
5) Vijay Lokapally

}} In which of the following countries is coconut

Triangle situated ?
1) Mauritius ~ 2) Maldives 3) Sri Lanka
4) India 5) Malaysia
17) The Red River is situated in ?
1) China 2) Myanmar 3)Japan 4) Vietnam
5) Morth Korea
18) Identify the mismatched pair?
1) NSDL-National securities Depository Limited
2) OBE-Order of the British Empire
3) BIFR-Bureau for Industrial and Financial
Rehabilitation
4) SLR- Statutory Liquidity Ratio
5) CCEA-Cabinet Committee on Economic AfTairs
19) World Thrift day is observed every year on ?
1) September 30  2) July 31  3) November 30
4) October 31 5) August 31
20) Which part of the Indian constitution is
associated with the provisions of Citizenship?
1) Part I 2YPart 11 37 Part 11
4yPart IV~ 5)Pan 'V
21) Which scheme was launched to provide
pension to people in unorganized sectors?




1) Swabhiman  2)Swadhar 3) Jeevan Dhara
4) Jeevan Kalyan 5) WNone of these
22) ATMs that are owned and managed by non
I banking entities are called 7
1) Offsite ATMs 2) Bed ATMs
3) Black Label ATMs 4) White label ATMs
5) Third party ATMs
23) World Bank helps countries with loans for the
purpose of 7
1) Stimulating private investment
2) Tackling foreign exchange crises
3) Reconstruction and development
4) Meeting deficits in government budget
5) None of these
24) As part of the India Food Banking Network
{IFBN) the first food bank was launched in ?
1) Hyderabad 2) Delhi  3) Kanpur
4) Amethi 5) Bangalore
25) The Global Hunger Index (GHI) was first
published in 7
1) 2005 2) 2006 3) 1995 4) 1996 5) 2000
26) Which of the following is/are the indicators for
Global Hunger Index?
1) Undernourishment 2) Underweight Children
3) Child mortality rate 4) Both 1 and 2
5)All 1, 2 and 3
27) Byssinosis, aiso called ‘Brown lung disease’, is
common in the workers of 7
1) Ceramic industry  2) Rubber industry
3) Textile industry  4) Iron and steel ind
5) None of these
28) Democratic decentralization refers to 7
1) Parliamentary Government
2) Federal Government
3) Democratic Government
4) Local Government
29) Which one of the followi
member of OPEC ?
1) Algeria  2) Nigeria
4) Ecuador 5) Brazi
30) Which of the follo
democracy in India 3
1) Inter state Cou

ainism  3) Hinduism
5) Zoroastrianism

smer winners of Mobel Prizes is
given.Who among the following did not win
the Nobel Prize for Literature?

1} Alice Munro 2) Herta Mueller

3) Doris Lessing 4) Toni Morrison
5) Aung san suu kyi
33) List of Authors and Books is given
below.Identify the Mismatched pair?
1) Jim crace-Harvest*
2) Eleanor Catton-the Luminaries
3) Ruth Ozeki-The Tale for the Time Being
4) Colm Toibin ~The Testament Of mary
5) Jhumpa Lahiri —we Need new Name&
34) The goals of the United statps-Ag
International Development(]
1) Disaster relief e
3) Socioeconomic devd
4) Both 1and 2
35) Which was the 1' irg

ocated on the river ?
p 2) Subarnarekha 3) Chambal
as the first Muslim to be elected as
t of the Indian National Congress ?
2) Syed Ahmad Khan

[~ Xga Khan
¥ Badruddin Tyabji 4) Muhammad Ali Jinnah
. 5) None of these
)[l] The exhaustion of soil fertility is the result of 7
1) Cover Cropping  2) Inter Cropping
1) Double Cropping  4) Crop rotation
5) Over cropping




[ENGUSHUANGUAGE|

Directions (41-50): Read the following passage care: |
fnﬂ;nndmlhqwmmnbﬁuw#w |
wards have been printed in bold to help you locote them
while answering some of the guestion.

re was & girl who sang beautifully at the temple
every morning. The music master used to happily recall,
"One day when I went inte the woods to pluck flowers, [
found this baby under a pipal tree”. He picked her up
carafully, raised her lovingly as if she were his daughter
and taught her to sing before she spoke her first word.

The music master grew old and didn't see to well. The |
girl tended ta him caringly. Many people including young |
®en travelled from far and wide to hear her sing. This |
made the music master's heart quake with fear. "You will |

/ chooss one of them as your husband. What is to become of
_ me™ The girl replisd, 1 shall not be apart from you". But
Jon o full moon night during the harvest festival, the mas-
- ber's chief disciple touched his feet reveremtly and said,
"Master, frant me your permission for your daughter has |

:ltl'bbd to marry me.” The master's tears flowed frealy, |
“She has chosen well. Go and fetch her let me hear you

ging the first of many melodies that you will sing togeth-

er.” The two began to sing in harmony. But the song was

interrapted by the arrival of the royal messenger. “Your

daughter is very fortunate the king has sent for her”, the

messenger said. At the palace the queen summoned the

girl to her and said, "I place upan you the henour of mak-

ing sure my daughter is néver unhappy at her hushand's

home, “There wasn't a singlé tear in the girl's eyes but she
thoaght of the master and her heart was heavy.

That very ‘night the princess began her journey to
Fambhaj. The princess's royal chariot led the procession
and the girl's palangum followed close behind carrying
trunks of silk, jewellery and precious stones. It was cov-
ered with a velvet sheet and had scldiers on the both
mides. As the procession passed, the master and his disd-
ple Kumarsen stood still by wayside. A collective sigh
eacaped the crowd gathered there wishing that the
princes wouldn't foel homesick'in her faraway home.

41, Which of the following can be said about the girl?
A, She was brought up by her father 'as her moths

himdl died when ahe was & baby.

B. She was & talented singer who had learnt tyg
at an early age. ) )

. She was only allowed to sing with the mhaste
permisgion.

1. Only A 2 Both A

3. Only B 4 AILA P

§. None of these

42, What was the girl's reactiog
1. 5She was honoured to be ge

il'ah.uw I-1J' SOy,
4. Entrusting the princess happiness,
5. MWone of thess

. Whltwuthtmumr'lmnﬂuntn'lha:lﬂ':
decision to marry his disciple?
1. He was upset and cried,
L Htpmmiudhugiwhiﬁwuimiwifthamph
., sang well together,
4. He was sad because she would be going to
Kambhoj which wis far away.
4. He was pleased with her choice of hushand.
5. Moneof these
45. Which of the following is not frue in the con-
text of the passage? . .
A Eh.Bwnlgﬂiﬂgh}mrprﬂpeﬁi.whuBhlnd'lhum:
to get engaged-
B. Her parents wanted her & dsit the kingdom of

3. ‘Ihegiﬂm-juntbu.b]atnu&aptmhﬂmhm&
4. He was slowly going blind.

5. Nome of these '

Directions (48481 Choose the word which is most

nearly the SAME in meaning to the word printed in bold |

as uged in the possage.
48, Fortunate
1. rich 2 liked
B, hacky
49. Raised
1. mortured 2. lifted
5. high

3. happy

3. grew 4. buailt

4. sueenssful |

50. Choose the word whichis most OPPOSITE in mean-

ing to the word collective as used in the passage.
1. alone 2, peparately 3. united 4, partial

B. single

Directions (51-55): Read each sentence to find out if |

there is any error in i, The error, if oy, will be in one part

of the sentence. The number of that part is the answer. If
there iz no error the answer ix (81 (Ignare errors of pune- |

fuction, i aryl

§1. In present the (1V price of food grains (21 are high '

all (3% aver the world. (4) o error (5]

52, Majority of the banks (1V today uses technology (2 |
to renth cut to thoee (3) living in rural areas. {4) Na

errar (51

8. 1 will give {1 you the advance {2V if you repay it as

{9¥ soon as possibly, (41 No error (5

B4. Though he is very (1) wealthy and powerful (2)/ he :

has any (3)/ foneern for the poor. (4¥ No errori5)

' §E. Mala has the (1) ability to handle (%) many tasks at

(@) the same time. (41 Wa errar (B



i Directions (58-80): Which of the phrises 1, 2, 3 and

© d given below should reploce the phrase given in bold in

| the following sentence to make the sentence grammatical-

| Iy meaningful and correct, [f the sentence i correct a2 if s

:dnd?fawﬁmthmﬂmi'mrkﬁmtﬁemm
§8. Finding himsalf in financial difficulty, he came for-

I' ward me for help and advice.

| 1. come acroad 2, is come upto

| 3. came to 4. come with

i 5. No correction required

| BT, Deepathﬂin;bunummghmymnfm,

| entitled to vote.

b 2. being over

1. bas been of
| 3. who is having over 4. who is been
i 5. Mo correction required
| 58 ‘I'Innmgulmthitﬂnhm{hadmmpubhnhad‘
i - monthly
" 1. which is subseribed 2. we are subscribed
i 3. whom we subscribe 4. whichever we subscribe
5. No correction required
58, .ﬁnungnfhiumun}'gmdqu:ﬂiﬁaa,ﬂmt]mmﬁmbqq

ix hig honesty,
! 1. All of his 2. Bome of the
i . & Only of his 4, Omne of his

&, No correction required )
60, Many of our clients have deposit of this foreign bank.

1. have deposits in 2. had deposited
3. with deposits 4. have depogited
5. No eorrection réguired '

I Directions (§1-85): Rearrange the following six sen
fences A, B, C, D' and E and F in the proper sequence §
form o meaningfil paragraph; then mwrtﬁequ‘m ]
given below them.
A 'Ihtﬂﬂnrwutnlﬂﬂmplumdthmuaw

gignal to eailors to warn them of danger, |
B. He returned to the spot a few years latter as capts)
.of his own ship. ¢
C. The ship was at sea for may days and finall
anchored near the coastline, ;
D. The night was stormy and without 8 warning sigi
his ship was wrecked on that very rock.
E. Dn-:nftlwﬂa]mnnhuudnwaheliumﬂnn
perous submerged rock,
F. As ajoke the sailor decided to steal the
it despite being informed of this.
8l. Which of the following should be 4F
tence after rearrangement?
LA 2B ac
5E
. Which of the following shedibd}

Directions (86-700: In each gueation below o sentence
~ith four words printed in bold type iz given. These are
ambered as 1,2, 3 and 4. One of theae four words pring-

ed in bold may be either wrongly spelt or inappropricte in
the context of the senfence, Find out the word, which is
wrongly spelt or inappropriate, if any. The number of the
word is your answer. If all the words printed in bold are
‘correctly spelt and also appropriate in the context of the
genfence, mark § Le. "All correct’ as your ansiver,
88. We have ingurred (1¥ an expense (2V of over fifly
thousands (3V this vear alone: (4V All correct (5)
67. WuHﬂEtharmulnbmhﬂm'utm—m{EF
to make people aware (3} about the environment.
{4V All eorrect (6)

68. The key issue (1V discused (2 at the meeting was |

how to resolve (31 ll“ﬂ'hll {4¥ All correct (5)

3 ||-.." Hymmmm:ﬂhﬂnﬂ]ﬂﬂlﬂﬂ

-BJiu:ntnugfrt i (TH) to conduct meetings in an effective
job {77} me to different parts of the country

ith (§0) to write articles for their publications. i
L achieved 2. aim 3. try 4. dreamed |
5. wanted |
2. 1. selected 2. active 3. interesting4. often !
B.jeint .
T8 1 elected 2 voted 3. became 4. applied
B, disided
Td. 1. respected 2. status 3. impressed 4. aged
5. common
76 1. lacked 2. grown 3. learnt 4, improved
b, earned
76. 1. that 2, why 8. how 4. never
&, anyhow
7. 1 saw 2 showed 3.posted 4. discovered
5. took
T8. 1. quist 2. firmly 3. strong A, first
5. not -

8. L travelling 2. jowrney 3. wisit 4. migrating
b. shift

BO. 1. wish 2. offer
4. appointment 4. requests

5. mmmm-h

D:in-uﬂm [:H:I-l[l]] H']'m.r limuldmm ir pfn-w af
the question mark (7} in the following guestions?
5xL+45

13%9-30
1 ¥
123 231 3555 134
5. Nome of these
82 39852+ |7 =81x 12 ;
141 21848  3.1681  4.43
5. None of thess

B} believe that (78) provided me with an education, |
te a lat. Newspaper editors often apbroached me |



B3, 547D + 34621 = T + 43668 )
1.45352 2. 46232. 3. 42460 4. A5552
5. Nooe of these

H4, 44% of 766 + T = SO0
1. 49848 L. bl 06 3. 574.80 4. 44464

, 6. None of these

BB, B7% of (T) = B287.64
1. 7080 o, 6442 3. 6938 4. 6739

&. None of these
BE. q']__".lﬁ =T
1.134 2, 144 3 124 4, 104
5. None of these
87. 30% of 200 # .7 = 48% of 550 - 10% of 150
1.600 221 3. 189 4, 36721
. None of thoss
BE. NAxBIxG1=1?
1. 998.264 2. B64.358 3. 468428 4. 526624
6. None of these :
89, 2647+ 56 =7
173.25 2. 68 3. 68.6 4. T1
§. Mane of these
a0, el +45+8="7
= L2 2. 81 3. 43 447
" & MNome of these
gl 18x8 «(NE = (16)*
1.8 2.8 3. 18 4. 27
G Hope of these __
02, 66% of 546 — 43% of 4397 = i
1. 10857 211171  3.13863 4. 17069
5. None af thess
9, 875+ Tld +d2 =7
1. 124 2. 992 3. BES 4. 40
5. MNone of thess
B4, (62)% + (1402 = (7)? + 65O
" 156 2. 48 3.50 4. 53
5. None of these
895 T+40x 5 =378 ’
1. 1616 2. 1648 3. 1a0a
5. None of these

96, 2 %w%-lg-?

e

Léx  24F - 3.4

5. Mone of these

87. 45% of 1200 = 54% af 7
1. 1080 2. 13320 3. 13
5. Mone of these

BB, 1354 # 1154 = ? 5% of 5640
1. 36 2 42
5. Mone of these

L. 112
5. None af thes
100, 546 + 228 + § 4

1. 321 e 3345 4. 358

102 What should “zor
mark (?) in the following number series?

1 5 17 53 161 485 ?

pest 6% of a number and
amber is 660, What is 8% of

ne in place of the guestion

110, What umrmm value should come in place,

L The uwuarnf; Television shop charges his

2 The average age of A man and his son is

N3 The cost of 20 folders and 15 pens is Ra.

04 In a-class of 30 students and 2 teachers,

11168 2. 1264 3. 1457 4. 1372
. None of theas

103. The simple interest acorued on a amount of
Ra12,450 at the end of 6§ years iz Fs.8,964. What

* + is the rate of interest p.c.p.a.?
LB 214 = 1] 4. 12
5. MNone of these

1. A plot of 575 square feet is available at the rate
of Re.5.500 per square feet. If 25% of the total
cost of the plot is to be paid for booking the
plot, how much is the booking amount?

1. Ra. 825750 . 2. Ra. 790625
. &, Bs, B76260 4, Rs, 735600

& None of these
106, If the product of two Sugeessive positive inte.
“[‘hﬂ.ﬂ‘ h A e

L &7 2 B2

4 e T8 'I!l.ll.'lihl‘.‘l:‘? .

24812 2 20848 3. 248924 4 10838

one of these . |

01 the two numbers, 48 per cent of first aum. |
ber is 60 per cent of the second namber, What |

is the respective ratio of first number to thg

second number?

LT 2 34
3. 54 . 4. Cannoat be dnhnmmd
5. Mone of these

of the question mark (?) in the following ques:

tion?

45.709 + 11342 % 6.667 = 7 _

LB8 248 ‘3. 112 4. 56
5 27

tomer 16% more than the cost price. If a
tomer paid Re 16588 for a Television, then
was the cost price of the Television?

1, Rs, 14300 2. Ra. 15504

3. Ra. 13800 4, Rs, 12000

5, None of these

years. The ratio of their ages is 11:5 respective
ly. What will be ratic of their ages after

years?
1.6:5 25:3 3.4:3 4.2:1
5. None of these

What is the cost of 12 folders and 9 pena?

1.Re. 662 2. Ra. 587
3, Ra. 447 "4. Cahnat be determi
5. Mone of these

student got sweets that are 200% of the
number of students and each teacher



sweets that are 306 of the total number of
dents. How many sweeis were there? °
1. 188 2. 180 3. s o 4.178

5. None of these
115, Hmammufhmmudimmwhqull}-

- amongst 31 children, how much amount would
each child get?
1. Re. 3766 2. Ra. 3556 5. Rs.d356 4. Bs 3156
&. None of these

116. If (58)* is added to the square of & number, the
answer &0 obtained is 5668. What is the num-
ber?
1. 56 2 33 a. 47 4. 51
5. None of these

n7. Inuna:mimtiuuithrequh';a&tuﬂtmd

the aggregate marks to pass. A student gets |

mmrmnrhutdlid-eﬂhndhﬂndhy'l'ﬁ|
marks. What are the maximum aggregate |

- marks a student can get?
1. 846 2 975
3. 950 4. Cannot be determined
b. None of these

& Which number almuld replace both the ques.
- tion marks (7) in the following equation?

T 4T

1 =7
1.B8 2184 3, 66 4.4
5. None of thesa I

18, Asum of money is divided among A, B, Cand D |
in the ratio of 4 : § : 11 : 13 respectively. If the |
share of C is Hs.7854, then what is the total i
amount of money of B and D together?
. 1. Bs. 13,6662, Ra. 16,928
4. Rs, 12,7644, Rs. 15,676
5. None of these

120. A single person takes 8 minutes to type a page. |
If from L0 pom. to 200 p.m., 1710 pages are to |
be typed, how many persons should be
employed on this job?

ToLl207 Z. 22 3. 248

5. None of these

121, waluchmmufhthrsm ere
word BEHAVIOUR each of which has as-g
letters between them in the we ;
English alphabet? =
1. Mans 2, One a.
5. More than thres

122 How many such digits apd there
Ti4528 each of which i

letter series

fABCDEFABC

4. H
Mﬂm.mh
1. None 2. Ome 3. Two 4. Thres

5. More tha.n thres

125 J, I L, H and F each travelling to station, each
one reaches at a different time, L reaches only

after J and D reaches only before F. Who

amongst them is third to reach?
LF 2L

o 3D 4. Cannot be determined
5, None of these

126. Four of the following five are alike in a certain
way and so form a group. Which is the one that
does not belong to that group?

121 2,35 3.42 4. 56
5. 49

1%7. In & certain code ALIVE is written as WFHBM.
How is VALUE written jr th.atnnde"‘

srmyin group. Which ia the one that
dlong to that group?
2 Desk 3 Wardrobe 4. Computer

he following five are alike in a certain
#id so form a group. Which is one that
s nof belong to that group?

Orange 2. Appla 3. Goava 4. Papaya

Directions (131- 1350 fn each of the guestion below
dre given three stafements followed by two conclusions
numbered I and 1. You have to fake the given stafements
| to be true even if they seem fo be o variance fram common.-

by krnown facts. Read all the conclusions and then decide
! which of the given eonelusions logically follows from the
; given stotements disregarding commaonly known focts,
| Gave answer 1 if only conclusion T follows.
* Give anawer 2 if only conclusion II follows.

Give anewer 3 if either conclusion [ ar IT fallows,

Give answer 4 if neither conclusion T nor IT follows.

Give answer 5 if both conclusions T and 1T follow.
131. Statements:

All windows are floors.
All floors are ceilings.
Conelusions:
I. Some doors are floors.
IL. All windows are ceilings.
152 Statements:
Some computers are books.
Some books are pens.
All pens are notebooks.
Conclusions:
1. Some books are notebooks.
1. Bome notebooks are compaters.
133, Statements:
All fruits are fhowers.
Mo flower is sweet.
Some sweels are deseris,
Conclusions:
1. Same deserts are flowers.
II. Mo desert is flower.



Lok, EHUBTATEETILN
All battles are jars,
Some jars are bowls,
Some bowls are buckets,
Conclusions: )
1 1. Some bottles are bowls,
II. Some buckets are jars,
135, Statements:
Some shoes are socks,
All sandals are trousers.
Conclusions:
L. All trousers are socks.
I1. Some sandals.are shoes,
Directions(I136-140): Study the following arrange-
ment carefully and answer the questions giver below;
HT7LE$2Y#WAdIF@VIAE®RKIM®E |

GUEC )

136, Which of the following is the fifth to the left of
the fourteenth from the left end of the above |
1.# W 1Y 4. K i

= B None of these |

Iﬂ.Hnwmmhmmhmthmlnﬂum:
arrangement, each of which is immediately |

preceded by a number but not immediately fol- |

1
|
|

lowed by a symbol?

1. None 2, One 3. Twa 4. Three

5. More than thres
H&anfﬁehﬂnmngﬁumﬂ]hllnlmtdn |

way based on their positions in the above |

arrangement and so form a group. Which is the |
one that does not belong to that gropp?
1.LHET7 2.Z24# 3LESM 4.3K8 |
5.FVA
139, How many such consonants are there in the
above arrangement, each of which is immedi-
ately preceded by a nuomber and also immedi-
ately followed by a symbal? :
1. None 2. One 3. Two 4. Three
5. More than thres
140, What should come in place of the o
mark (7} in the following series based
above arrangement?
TT7TE Yed @VA T
LEM2 2%EKEM 31%1
5. None of these
Directions (141 = 144} Study the ff
carefully and answer the question
MDJQTFHand N are s
ing at the centre. T is th

144. What is Q's pnnh.unwi.thmmtnrm i
A. Pourth to the right  B. Fourth to the loft

C. Fifth to the left D. Fifth to the right

e 4 R - m w

3. Either C ar D 4, A and B anly
E. None of thess
145, Find the Odd one?
1. 28 2. 125 3. 961 4. 1000
B. 512

Directions (146- 150): In each question below
giver a group of ters followed by four combinations
digits | symbols numbered 1, 2, 3 and 4. You have to
out which of the combinations correctly represents
group of letters based on the following coding aystem
mark the number of thot combination as the onswern,
none of the four combinations correctly represents
group of letters, mark (5} Le. '

5215&3 2 B219G% 3. 3219@3
. None of these

4. $2198%

1.218%82 2 G19@86 3. 619462 4. 619Ew2
5. None of these
Directions (151-155): In the following qiestions, the
symbols §, @ © % and #* are used with the following
meaning a8 Hlustrafed below:
P % Q) means P is not emaller than Q'
P& Q' means 'P is not greater than §
P& @ means P is neither greater than nor smaller then ¢
P % @ means ' is neither smaller than nor equal to §
P * @ means P is neither greater than nor equal to @]
Now in each of the following questions assuming the

piven statements to be true, find which of the two conelu-
giong [ and IT are given below them ia’ are definitely true?

Give answer 1.if only Conclusion I is true.
Give answer 2 if only Conclusion IT is true,
Give answer 3 if either Conclusion I or 11 iz true,
Give answer 4 if neither Conclusion I nor il is true,
Give anewer 5 if both Conclusions I and IT are trwe.
151. Statements: '
K&B,BxJ J&aT
Coneclusions:
LE&T ne&T
152. Statements:
FEMMaL LxW
Conclusions:
LWsM ILF@aL
153, Statements: T
R%QQ@FF%A
Conclosions:
LRESA ILF&L



154, Statements:
VEXXOYY%H
c o .
LY@V ILH*V
156, Statementa:
| M@BEBxAAG@F
Conclusions: :
LM&A NnLE*xF
Directions (156 - 160): In each of the questions given
belatw which one of the five answer figurea on the right
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1. Selling of banks
3. Merger of banks
¢5emhmksprndmhuidmm
&Sﬂh{mmmm

162, Proper pricing is needed for
1. Extra charges for extra services

2 Levy of VAT
3. Good customer serviee

2, Buying of banks

sting has no relevance in Public Sector Banks
ing his no relevancs in Private Sector Banks
Hng has no relevance in Foreign Banks

5. None of these

ing products. That is
1. Sale of Credit / Debit Carde
2. Sale of Net Banking
3. Sale of Corporate Loans
4. Sale of Retail Loans
5. Mone of these
168 HNI means
1. Highly Negative lndmdual
2. High Networth Individual
3. High Neutral Individual
4, Highly Necessary Individual
5. All of these
168, Dgital Banking means
1. Banking with calculators
2. Banking with digital instrumeanta
2. Internet Banking and Telehanking

4. Export finance
5. None of these

170. Home Loans are granted to
1. Individunls 2. Institutions
3. Builders ' 4. All of these
5. None of these

171, Credit Cards are used for
1. Cash withdrawals
2. 'Purchase of air tickets

3, Purchasé of consumabje items from retail outlets

4. Al of these
&. Mone of these
172 The ATMs are
1. Branches of banks
2, Manned counters of banks

7. Marketing is not reguired in one of the follow-




3. Unmanned, cash dispensers - 184. The ability to find an individual item in a file |

4. All of these ' iﬂﬂdill-ﬂr is used. .
5. None of thess 1. file allocation table 2. directory
173, Internet Banking means 3. seqquential nccess 4. direct access
1. Mesoting of Banks on the Net &, Mone af thess i
2 Met Practice 185. To make a notebook act as s desktop model, the !
I

"os Banking transactions through internet notebook can be connected to o ___ which is

4. Transactions with firet . mnmlﬂdtuannniun-anﬂnmardeﬂm.

2, Customers banking with one bank exclusively
3. Customers returning lost ibems
4. Customer giving gifts to banks
5. None of theae
176. A Marketing Plan is necessary for
1. Having a focussed approach to marketing

. ) i

5. All of these ; bay E. :l::k:r-.t station !

i X yalty « 5: Mone of these .I :
1. Bhifting of customers from one bank to anather v tals ooy b :

. 167
2. To decide marketing strategies ase 4. record
3. To decide product strategy
4. To decide advertising strategy 1B8. 5 after the power is
5. All of thess

I'IE. P"uhlir: Relations is required for
1. Improving customer service in the company
2. Improving marketing functions in the company,
3. Better atmosphere in the company
4. All of these
5. None of these :
177. One of the following qualities is not requinsl
- for effective marketing. That is
1. Self — motivation
2. Eifective communication skills

2. non = volatile storage
4. direct storage

3. Team work . _ . contains specific nl.hs and words that
4. Perseverance qwthehﬂ.ulﬂaplnimalﬁuﬁthm
5. Sympathy 1. syntax 2. programming structure
1. Distributing gifta ) B. None of theee
2, Callocting garbage 182. Changing an exisfing document is called ___
. Multi- linguist the document. )
] 4, Good communication skills 1. creating 2. editing 3. modifying 4. adjusting
| 5. Bhort — tempered 6. None of these
179. Rural Marketing involves e il e
1. Belling to farmers and agriculturists . .
2. Selling to rurs] househalds { 1 n::mﬂnﬂt::{hﬂd disk that the CPU uses as an
3. Belling to rural industrics 3 in RAM
;' WI . 3. only necessary if you do not have any RAM in
. your computer
lﬂﬁndﬂi.ahnmmtm = 4. a back up device for floppy disks
1. Marketing i& redundant 5. None of t i
&, Micyliokinys ih md 18, Computers use the __ number system to store
- data and perform caleulations.
1. decimal 2. hexadesimal
: 3. octal 4. hinary
181. W.hl'l:. megnu is 5. None of these .
] 185. The ____ key will launch the stirt buttons.
182, This most fakrortah - ' 1. esc 2. shift 3, windows 4, shorteut
d i 5. None of these
. To move to the beginning of a line of text, preas
the __ key
. R 1. home 2a 3. pageup 4. enter
183, The p t 5. Mone of these o o
E 197. When sending an e-mail, the ___ line deseribes
1. Web sites 2, information ! the contents of the message.
3. programs 4, objects ; 1. to 2 subject 3. contents 4. CC

5. Mone of these : | 5. Nane af these



188, Which groupings do ¥oU WO WIth Woen wrs

matting text in Word?

1. Tables, paragraphs and indexes

2. Paragraphs, itidexes and sections

3. Charncters, sections and paragraphs
4, Indexes, characters and tables

5. None of these

188, Which of the following is the largest unit of
storage? :
1.GB 2.EKB 3. MB 4. TB
5. Naone of these

204, The _____ tells the computer how to use its
components.
1. utility 2. network

&, operating system 4. appheation program
f. None of these EL
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